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- Answer question No. 1 and any four from the rest.
1. Answer the following questions : : . (10x1=10)
, 2x% -0 :
@ If [ 5 1] = I,, then what are the values of x and y?
e .

) IfA’= gci‘lle(lﬁl—), what is the value of IA |?

(iii) The eigen values of the matrix A are 1, 2 and 3. What is value of |A|.

(iv) Find the value of i'%.

v) If a, B are the roots of the equation ax® +bx+c =0, (a #0), what is the
value of a + A7 '

sin x

(vi) lim =7
-0 x
2 -1 dy
If y=2"— find =~.
(R x+1 - dx

(viii) If f"(x) < 0 at x = @, what is the maximum value of f(x)?
a b ¢
(ix) If A=|0 d e|, what are the eigen values of A*?
0 0 f
(x) If the tangent to the curve y = f(x) at x = ¢ is parallel to the x — axis, then
what is value of f'(c)?
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2. (a)
(b)
3 (a)
(b)
4. (a)
(b)
5 (a)
(b)
6. (a)
(b)

1 -2

Find the inverseof A =3 -2 1|. | 8)
4 2 1
State Cayley-Hamilton theorem. Verify Cayley-Hamilton theorem for the
1 2

tri . - : 2+5="17

mateix [ | | | @+5="7)
: 6 -2 2

Find the eigen values of the matrix A=|-2 3 -1]|. (8)
2 -1 3
1 22

Show that, A adj (A)=|A|I;, where A=| 0 2 1|. (7
-1 2 2

Prove that I z,.zzl = | 2 H 2 |, where 2, and 2, are any two complex numbers.
C)

Express z =1—i in polar form. (7)

If o, f are the roots of the equation ax2+bx%c=0,. (@ #0), find

4+4=8)
(1) l + _1. e o aRARY
o ﬁ BN L ANEE - .
@) o - p. . Gu
If a, B are the roots of the equation ax?’ +bx+c¢=0, (a#0) form the
equation whose roots are —a, — f. : (7)
Evaluate : ' - (6+5=10)
4 —
) M
>3 x-3
G) e
x>0 gln 3x
2
Find —d—z and —:—Z—, where y = x*-2sinx +cosx. . (5)
x x
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7. (a) Find the maximum and minimum values of the function
f(x)= x* —4.5x% + 6x + 1. | (8)

(b) State Rolle’s theorem and give the graphical ihterpretation. 2+5=17)
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